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Question Number : 1 Question Id : 5244765201 Display Question Number : Yes Is Question Mandatory : No Calculator

N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following memories must be refreshed many times per second?

806 ¢35 O 0O O EDZL 0TE D O DN TOSTE?

Options :

1. EPROM

1. %

.« 2. ROM

3. Static RAM
W ¢3§ RAM

3. %

: None Response Time :



4. Dynamic RAM
T3S RAM

4.

Question Number : 2 Question Id : 5244765202 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statements is not correct about the main memory of a
computer?
E0°5e08 T30E) DONS 088 50250500 o0& VEDoS oS
DB HBSE Sc?

Options :

1. In the main memory, data gets lost when power 1s switched off.

DG DB, DSB8 S €39 @ondD) Y Ter HeAod

2. Mam memory is faster than secondary memory but slower than registers.

57 D08 DE0LS 08 E0T) JRorT GoEnod 5°0

82308 0T VAT SOENOA.
2.
3. They are made up of semiconductors.
209 DNE0HESS ErroBoBDT oW,
3. ®
4. All are correct
L, ) OBID

Question Number : 3 Question Id : 5244765203 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If a processor has a word size of 32 bits, compared to a processor with a word size
of 16 bats. 1t can process at a tune.

P06 32 DS e I8 2z EDR &0, 16 DS 36 e &)
TROES POV, @8 238 (VD TR,

Options :

1. The same amount

O3 IS0
1. ®
2. A fourth as much
. TN BED DBV

3. Half as much
QRO
3



4. Thrice as much

o0I°CE) BEYD DBV

4. ®

Question Number : 4 Question Id : 5244765204 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is an efficient method of cache updating?
2808 5835 DA 5T Q SDEB0RTRE HsHBI0S TS HDeY?
Options :
1. Snoopy writes
v 5 =
A°) o |&° o

1.¢
2. Write through
40”7 R
- A g
3. Write within
S’HS | TR
3. % - .

4. Buftered write
2HY DB S’ R

Question Number : 5 Question Id : 5244765205 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

OS classifies the threads as-
0S [B&E®D "er $858008

Options :

1. Maimnframe and motherboard level

DOV 20 SHBABN HAESG Prow

2. Kemel and User level

BE) S BN AR "o

2.

3. Security and Memory level

L B Ak Rosod Prow
4. OS and CPU level
) 0S H8a% CPU J°om

Question Number : 6 Question Id : 5244765206 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :



N.A Think Time : N.A Minimum Instruction Time : 0
Which of the following places the common data elements in order from smallest to
largest?
208 33" DO FFB TEF ATFOFTOR DAY E DHod OB S5%0
€50TN0E?

Options :

1. Character, File, Record, Field. Database
525886, DS, 850, 9O, BerDR

1. ®

2. Character, Record, Field, Database. File
525846, 850, DO, Berdn, S

2. &
3. Character, Field. Record, File, Database
., =086, 28, 858, S, Berzn
4. Bit, Byte, Character, Record, Field, File, Database
DE. BE. 25888, 658, S, S, BerDH
4. ®

Question Number : 7 Question Id : 5244765207 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

External commands in DOS are ..........
DOSE’ 27Fs STFEN ...

Options :
1. Sys, ver, vol
1. %
- 2. Edit, sys, chkdsk

3. Chkdsk, prompt, date

3. %

4. None of above

25a3e) 55

Question Number : 8 Question Id : 5244765208 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following windows versions support a 64-bit processor?
208 DOER BSOS A 64-DES (FOEEL Dk RWDOE?

Options :



1. Windows 98
DoED 98

1. ¢

2. Windows 2000

. Do& 2000
3. Windows XP

. Do&JXP
4. Windows 95

L DoBRIS

Question Number : 9 Question Id : 5244765209 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The category of software most appropriate for controlling the design and layout of
the complex document like newsletters and brochure 1s:

ST SN DBAM (5798 50¢3 Ho8R H(HO Errged Yo AW
S@:)E AAHOB0IETRE 50 DSNDS TS PR SGo:

Options :

1. Word Processing

S8 (0ol
LY
2. Computer-aided design
E0J°5€0-0008B & GBS
2. %
3. Web page authoring
L PS8
4. Desktop publishing
TRy 0ol
4. &

Question Number : 10 Question Id : 5244765210 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

An entire path name, consisting of several sub-directory names can contain up to

O &O-BBEB DS ErBS BB SB0 KD ... 3550 3O
€00 S

Options :



1. 36 characters

. 36egoewn
2. 53 characters
53 @8 orew
2. ®

3. 63 characters
63 @8 oren

3. =a
4. 43 characters
. 43 &8 oren

Question Number : 11 Question Id : 5244765211 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

To display hyperlink fields in a word document, you can press the
38 B50ES’ 2B 0E DS (D58 )0B5 T8,
RPN TR
Options :
1. Ctrl4+Shift+F9 Key
Ctrl+Shift+F9 8

2. Ctrl + Alt Key
Ctrl + Alt &

3. ‘Shift + F9

3. &

4. None of the Above
2oa0) Sed

Question Number : 12 Question Id : 5244765212 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s not an option for changing the case of the text?
208 36365 BE), TN ArS I8 D0DE A E?
Options :
1. Indent Case
030 TR

1.



)

Sentence Case
S50 3

2. %

3. Toggle Case

EHS 3R

4. Lower Case

S8 TR

4.%

Question Number : 13 Question Id : 5244765213 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

When you click on the File menu in word 2010, it opens

oS> Word 2010 S°Q S 0 88 TS Y%,
SS90 E

Options :

1. File menu

26

1. ®

2. File commands

S 8TFew
2. ®
3. Backstage View
. BEIDE DE

4. File Ribbon
2O 820)

Question Number : 14 Question Id : 5244765214 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s not a valid Master View option in Microsoft PowerPoint
2016?

Microsoft PowerPoint 201663 808 °¢3¢5° IR LBNIALIAN @C_lijg S0 s
DONE DE 5°¢%?

Options :
1. Notes Master

500 Srpd



2.

3. %

Outline Master

©HEBS 706

Shide Master
Qon& b

Handout Master
5508599 3706

Question Number : 15 Question Id : 5244765215 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not true regarding Conditional Formatting?

DSBS ErAS &35y HEB51 H02080D 80 F¢3S° DA a0

5°¢0?

Options :

1.

1. ®

2.

3.

3. ®

You can add more than one condition to check

035 $JD) TAHTRR 2.5¢3 E0B) DEVYS DB FBR0ISIN)

You can set the condition to look for Bold and apply Italics on them

A 'S 00 IHEEE HBAM 36320 REFOTHD
S80IBAHEEAE DB E TOHHID)

You can apply Font, border and pattern formats that meet the specified conditions
B D8 AESOEY KON BOTE a0, DEITPEY B3
SIS U TR TIINVIN T T I\ VNIV

You can delete any condition from the Conditional Formatting dialogue box 1if 1t 1s
not required

25080 BEHOT) D& S A roe e300 Berh a8y Hod
DB ASB0D SOOI

Question Number : 16 Question Id : 5244765216 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

When a row of data 1s to be converted mto columns

T35 SO Qe SBDENTT 55°8 Jode) Y

Options :

1. ®



1. Copy the cells in a row, select the same number of cells in a row and paste

SIS €5) DS 550 TOHOA, 208 SHIS'D B HowssS DS D
DOTNH @ed380505%

2. Copy the cells in the column then choose Paste Special. then click Transpose and OK
TSR VOO T2 TR, DR VAT DOTHBI, (£S5 T ok 85
L%  DO0OB

3. %

3. Copy the cells then go to Cells then on the Alignment tab click the Transpose check box
and click OK

RSO 522 TR, VSO I, &5 @008 3556’ €3S )5 TE 278w
28 32, 56 85 Bahod

4. Select the cells then place the cell pointer on the new cell and choose Paste Special. mark
the Transpose check box and click OK

VOO DOTHHD, VO aFONO0LD § DO GO0 OGN VW
IO DONEOB, ErQ )2 T8 25 Joh MHB) DEOAB SHOOW ok §5
200G

4.

Question Number : 17 Question Id : 5244765217 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s not a valid data type in Excel?

808 5°¢3¢5° DA ExceleS’ TN eodds TeEr SE0 5°¢0?

Options :
. Number
QO

2. Character

e do
2.
3. Label
. SO

4. Date/Tune
BE/H00%H0

4.%

Question Number : 18 Question Id : 5244765218 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time :



You can convert existing excel worksheet data and charts to HTML documents by
using the?

D06 A &IHTIFR0DB0 T250° RNHEST &) IBIS S5 0 Ter
BN T30 HIML Z3°80§ R00Ee ™ L3728 1ed70)?

Options :
1. Intranet Wizard
R0(ErIE oD

2. Import Wizard

. B DO
3. Export Wizard
L 5D DG

4. Internet Assistant Wizard

R0¢33) & @IV Derd

4.

Question Number : 19 Question Id : 5244765219 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Macro recorder is a tool that translates your action n?

3578 85700 9T D HB5D 40 @DIAOT DIS0?
Options :
1. VBA
I
2. IRR
2. &
3. PMT
3. &
4. VPV
4%

Question Number : 20 Question Id : 5244765220 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following VLOOKUP functions 1s using the correct arguments?
808 ¢3¢5" & VLOOKUP H0E Sex OB esthsvotderdo
E5 AT HT) O0?

Options :

1. =VLOOKUP(Products!$A$2:5CS$20, G5, 3, FALSE)

1.



2. =VLOOKUP(GS, 3, FALSE)

2. %

3. =VLOOKUP(GS, Products!$AS$2:5C$20, 3, FALSE)

3. &

4. =VLOOKUP(G5=3, TRUE, FALSE)

4. %

Question Number : 21 Question Id : 5244765221 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time :

Which 1s a valid C expression?

Teweren s C Sc888 DE?
Options :
« L. mtmy num = 100,000

2. mtmy num = 100000

2.¢ 4
. 3. mt my num = 1000

. 4. mt $my num = 10000
4.

Question Number : 22 Question Id : 5244765222 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Where i C the order of precedence of operators does not exist?
C S eHBVES (S5 | 5300 28 Se?
Options :

1. Within conditional statements. if, else

QBSOS §rES REDoS oS, @ans, ID

1. ®
2. Within while, do-while
. Tde, dr-38
3. Within a macro definition
e e Q85880 SHe
4. None of the mentioned
L, 2B 53 NN BY

Question Number : 23 Question Id : 5244765223 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time :



Which of the following 1s not accepted in C?

C S 808 ¢3S D SFEE0D22HN?

Options :

1. static a= 10: //static as

2. static it func (int); //parameter as static
2. &

3. static it a; //a static variable prefixed with static
3¢

4. all of the mentioned

TGP N RS R

4. %

Question Number : 24 Question Id : 5244765224 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the sizeof(char) in a 32-bit C compiler?

32-0& € Zo05S 55BE5 Ty DBITE0 Doeh?

Options :
1. 1 bt
1 D
1. %
2. 2bis
2 D&
2. %
3. 1 Byte
1 23
3.¢
4. 2 Bytes
2 e
4.% s

Question Number : 25 Question Id : 5244765225 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What will be the value of the following assignment expression?
(x = foo())!= 1 considering foo() returns 2

208 SRS O 58830 e Joeh?

(x = foo())!= 1 considering foo() returns 2

Options :

l: 2

1. v



2. True

2. &

3. 1
3. %

4. 0
4. &

Question Number : 26 Question Id : 5244765226 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What are the elements present in the array of the following C code?
mt array[S] = {5}:
808 € §%6 TBwEy (R3S &d) Sorersen des?

nt array[5] = {5}:

Options :

l. 5.3.9,5.5
1. ®

2, 5,0,0:00
2 ¢

3. 5. (garbage), (garbage), (garbage). (garbage)
3. %

4. (garbage), (garbage), (garbage), (garbage), 5
4.

Question Number : 27 Question Id : 5244765227 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



What 1s the difference between the following two C codes?

208 Bockd C 5B K085 Bra® dE3?

A #mclude <stdio.h> //Program 1
mt main()

{
mtd,a=1,b=2:
= gt+++fh
printf("%d %d %d", d, a, b);

}
B. #include <stdio.h> //Program 2
mt main()
mtd,a=1,b=2:
d= at++++tb;
printf("%d %d %d", d, a, b);
}
Options :
1. &%

1. No difference as space doesn’t make any difference, values of a, b, d are same n both

the case
)R DENN0ES Brared EDR0HI 5783 Bra® B, a, b, d Dexden
BoB0E3S S 2,8 DO SOLETon

2. Space does make a difference, values of a, b, d are different

RN B DNOA, a, b, d Denden X)) orr &otron

2. %
3. Program A has syntax error, program B 1s not

. A S DoerE) S'H0 &od, (DT B B
4. Program B has syntax error, program A 1s not

.. &S BS R0erE) §00 God, (9| A Beo

Question Number : 28 Question Id : 5244765228 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



What will be the output of the following C code?

2808 C §& @HOHE der Gotnod?

#mclude <stdio.h>
int main()

{

mt1=0;
do
{ -
i
ifli—2)
continue;

printf("In while loop "):
} while (1 < 2):
printf("%d\n", 1);
}

Options :

1. In while loop 2
1Lv

2. In while loop 3
; % 3. Infinite Joop

4. None of these

D 2 5

Question Number : 29 Question Id : 5244765229 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following are C pre-processors?

2808 ¢35’ C DT RIGeN D2

Options :
1. #ifdef
1. ®
2. #define
2. %
3. #endif
3. %

4. all of the mentioned

DOS3S03

4.



Question Number : 30 Question Id : 5244765230 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Comment on the output of the following C code.

808 C §'& @HEHE D 7 5arsd0o50b.

1. #include <stdio.h>
11. main()
111, {
1v. char *p = 0;
i p—la
V1. printf("value mn pointer p 1s %c\n", *p):
Vil. }
Options :

1. Itwill printa

28 a SN0

2. It will print O

. 30 0 SNV
3. Compile time error
0D T B
3. &

4. Run time error

58 DS S'Ho

4.

Question Number : 31 Question Id : 5244765231 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Out of the following operations. which one 1s not possible 1 the case of a register
variable?
808 sEs8erareeS’, 82308 8HeNS DASCHOS DA /50 522

Options :

1. Global declaration of the register variable

8205 802G ), N2ad GEBAS

2. Copyimg the value from the memory variable

008 S805H20S DHOA el 578 TAK%o



3. Reading any value mto the register variable

82208 80020’ VB VeSS 9950

4. All of the above
DI,

4.

Question Number : 32 Question Id : 5244765232 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What will be the final values of 1 and | in the following C code?

2808 CERS 1 850 j T30E) S Denden de3?

#1include <stdio . h>
mtx =0:
int main()

f
1

it 1= (f() + 2()) | g(); //bitwise or
mt ] = g() | (1O + 20)); //bitwise or

¥
mt 1)
{
if (x =0)
return x + 1:
else
retumx - 1:
}
mt g()
{
return x++:
}

Options :
1. 1valueis 1 and | value is 1

1 00 1 08AW j Dend 1

1. ®

2. 1value 1s 0 and  value 1s 0

1 00 0 BN j DN 0

2. ®

3. 1value s 1 and j value 1s undefined

;1 DeN 1 08A%N § Dend AB Q0D S D

3.



4. 1and j value are undefined

1 08050 j Denden NS §D0IDSS

Question Number : 33 Question Id : 5244765233 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which part of the program address space 1s p stored mn the followimng C code?

ST (R VYV ) 27650 p 808 € FEES' ded g TAHaebod?

#include <stdio.h=>
mnt *p;
mt main()
{
mt1=0;
p=&i;
return 0;

S

Options :
1. Code/text segment

§°%/28),, MO

1. %

2. Data segment

3¢5 DO

2. %

3. DBss segment

Bss M08
3.9
4. Stack

Question Number : 34 Question Id : 5244765234 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following features must be supported by any programming language to
become a pure object-oriented programming language?

D551 e3238-8,8D0B& (S IP0N eron £S5 T P38 DB
ISHP0R eroni 25 808 DRSS DA $DIAH8M HEG SoSrd?
Options :

1. Encapsulation

DY) IBAR



2. Inheritance

. B0 O
3. Polymorphism
. &S5 8 y230
4. All of the above
Sai5iy
4.¢ =

Question Number : 35 Question Id : 5244765235 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Identify the incorrect constructor type.

) 8(5), 80 85 thBododk.

Options :

1. Friend Constructor

0& (96

L
2. Default Constructor
L a8 8).8
3. Parameterized Constructor
3. &
4. Copy Constructor
520 8,50
4. ®

Question Number : 36 Question Id : 5244765236 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

How many primitive data types are there in Java?

2SS D) BEX TEF BN Eao™) O0?

Options :
1. 6
1. ®
- 2. 7
3. 8B
3.9
4 9



Question Number : 37 Question Id : 5244765237 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the default value of char?

char B30E) AT e D0es?
Options :
1. "

1. ®

2. '0000'
2. ®

3. U
3. %

4. "w0000'

4.

Question Number : 38 Question Id : 5244765238 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the right output of this program?

B8 (DT T30EY OB @HENE DNEI?

public class UnaryOperators {
public static void main(String[] args) {
int1—4;
System.out.print(i++);
System.out.print(++1):
System.out.print(i--);
System.out.print(--1):

}

Options :

1. 6765
1. ®

2. 5654
2. ®

3 ol
3.9

4. 5765
4, &

Question Number : 39 Question Id : 5244765239 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Which are the assignment operators?

VR O e30DEEEN

Options :

1. F
2. &="=1=
2. &
- 3 C= = e
4. All of Above
S &) 3,
4.

Question Number : 40 Question Id : 5244765240 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the right output of this program?

&3 QTP T30EY OB ©e9EE] EI?

public class ShiftOperators {
public static void main(String[] args) {
System.out.print(8<<2);
System.out.print(",");
System.out.print(8>>1):

}
b

Options :

1. 4,32
1. ®

2. 324
2.¢¥

3. 164
3. %

4. 4,16
4, %

Question Number : 41 Question Id : 5244765241 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Decrement operator, —, decreases the value of the variable by what number?

B8R0 sHBEE, --. I80H20S DeNSD & Do SHDOE?

Options :



1.+

L u B 2
3 5

3. &

A

Question Number : 42 Question Id : 5244765242 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Modulus operator, %, can be applied to which of these?

S3C500 @B, %, De3S” BAE SE0HBAHSTDY?

Options :
1. Integers
JPT°OZPEN

2. Floating—point numbers

Fe30R-ronodd o sen

2. &

3. Both Integers and floating-point numbers

JTOSPeN 0OASM ¢30h o0 domsen Bockr

3.

4. None of the mentioned

D) T3S D BY

Question Number : 43 Question Id : 5244765243 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s/are the highest order precedence operator(s) in Java?

23S @ésOE 88 RBS) SHBLD

Options :
L. €3
1. ®
2.
2. ®
3. Bothl&?2

1 & 2 DO



4. None of these

HE3S DS Bw

Question Number : 44 Question Id : 5244765244 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Unlike C-Arrays, the Java-Arrays have

C-Arays 3°8500C3°, Java-Arays DR Boerow.
Options :
1. Names
Folar
1. % i

2. Values

PRIV SN
3. Methods and Fields
D0 HBAS I [en
3. ¢
4. None
268
4.

Question Number : 45 Question Id : 5244765245 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the output of the below Java code snippet with arrays?

BENOS BHISS &) 2 & )00 TE) ©9ENE does?

static int[] nums:
public static void mam(String args[])

{

System.out.println(nums.length);
}

Options :

L. 0

1. ®

2. Null
2. ®

3. Compiler error
L0208 S°Ho



4. Runtime Exception - Null Pointer Exception

SRTIR ADTEAN0) - BPRS aPONO0EID NeTFAN0)

4.

Question Number : 46 Question Id : 5244765246 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the output of the below Java program with arrays?

(BENOE AHRS &) 2a7 (TP TBE) ©9EE Doeh?

public class Polo {
public static void main(String args[])
]
1
String[ ] computer = {"RAM","HDD","MOUSE"}:
String[] parts = {computer[0],computer[2]}:
System.out.print(parts[1]):
}
}

Options :

1. RAM

1. ®

2. HDD
&
_ 3. MOUSE

4. Compiler error
o8 Do

4. ®

Question Number : 47 Question Id : 5244765247 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

If an index of an element 1s N, what is its actual position in the array?

080 TINE) ArDE N @ons, (35S 7 @00 TS0 a0¢3?

Options :

. LN
2. N

2. ®
3. Nl
4. N+2



Question Number : 48 Question Id : 5244765248 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Use of null reference or null pointer 1s illegal and may raise an
38 AN B A7 30008 T3E), B OT3TH0 WEDBNO
08 Q 0D

Options :

1. Exception

D TEON0 )

1.

2. Negative Value
e D08Ere dend

3. Reference Value
» AT DN

4. None of these
L a8S HA B

Question Number : 49 Question Id : 5244765249 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s an invalid declaration for the main method in java

program?

2> (TS (DTS IS8 808 ¢3S B AHETAS 0&?
Options :

1. public static void mam(String [] args)

1. #
. 2. public static strictf void main(String args[])
2.
Lk final static public void main(String args[])
4. All are correct
L, ©) ABISI

Question Number : 50 Question Id : 5244765250 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What do you call the languages that support classes but not polymorphism?

FOIPE)R0 RO SSHSIOZ DB AT ) 27D D e
DN E)?



Options :

1. Class-based language

S EKed 886 27
1. ®
2. Procedure Oriented language
10238 L.8THoBE erol ef
2.

3. Object-based language

) S Y-85 eb 2370
R

4. If classes are supported, polymorphism will always be supported

SSK5E0 N AR, TVETDESEE YT S0 ek
Lx  COCNOH

Question Number : 51 Question Id : 5244765251 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Virtual functions are mainly used to achieve
SE SIS HoE A (DEdorr DOONTE
E50a3rAodeaderow.

Options :

1. Compile time polymorphism

B P38 )230 E00D

2. Interpreter polymorphism

QOGS 6 S8 Y230

2.

3. Runtime polymorphism

ERQTIN A8 y230

3.

4. Functions code polymorphism

e 56 FOIr8)230

Question Number : 52 Question Id : 5244765252 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of these 1s a super class of all errors and exceptions in the Java language?
27> 2PASQ @) Saren 8050 WITFaN0H e TBE) SrHd 5N
DS A&?

Options :



1. Runtime Exceptions

BRTID aNTFONO)CN
1. %
2. Throwable
) FAP Telal D)
2
3. Catchable
PN SR

4. None of the above

e 5

Question Number : 53 Question Id : 5244765253 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Stack 1s useful for implementing

5 295000 TONETRE GOTIPHDERIS0D

Options :
1. Radix
o°&8)

2. Breadth first search

. Jesen) DS TS
3. Recursion
) DT 0

4. None of these

HE3S' DE B

Question Number : 54 Question Id : 5244765254 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The data structure required to evaluate a postfix expression is

FDDE ) 95885698 Surers0E80 TANERE eIHSERS B

QT®2£90
Options :
1. Queue
&S

1. %



2. Stack

s

2.
3. Array
i)
3. &
4. linked-list
. oS-

Question Number : 55 Question Id : 5244765255 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which data structure 1s needed to convert infix notation to potfix notation?
JRDE,) TBIARD FFRNE) TTIART B )TRE o) T (80
©IQB0?

Options :

1. Branch

1% 50

2. Tree
T

3. Queue
3. % oS

4. Stack

o S

Question Number : 56 Question Id : 5244765256 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Process of removing an element from stack is called

5 o0& AresR) Sofod (HBAH 0ET%

Options :
1. Pop
. )
2. Create
DYROTD



3. Push

ool
3. %
4.  Evaluated
Sorrer 50850 TAHDE0E
4,

Question Number : 57 Question Id : 5244765257 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The data structure required for Breadth Furst Traversal on a graph 1s?

TPDS” ZeH¢3 LSS IS E0 @30S DS Ter Qo607

Options :
1. Stack
~°8
1. % =
2. Array
. e
3. Queue
- 5\5“&3
4. Tree
4, % L_ég

Question Number : 58 Question Id : 5244765258 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A queue follows

Q I8N S) §o°§

Options :
1. FIFO (First In First Out) principle
FIFO (0 RS 9 @H&) Sebo

2. LIFO (Last In First Out) principle
LIFO (7 RS 2 ©9E) ov(ebo

3. Ordered array

&08 TS B3



4. Linear tree

OQHE (€3

Question Number : 59 Question Id : 5244765259 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The posttix equivalent of the prefix *+ab-cdis

*+ab-cdGEHOBE QAFSTS FODEy_

Options :
1. ab+cd-*

R

2. abed+-*
2.

3. ab+ecd*-
3. %

4. ab+-cd*
4. ®

Question Number : 60 Question Id : 5244765260 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s true about linked list implementation of queue?

S5 330%) O08 22)e 90050 H00HOD 80d 7¢3S° A Jeso?
Options :

1. In push operation, if new nodes are mserted at the beginning of linked list.
then 1n pop operation, nodes must be removed from end.

IR BIBAKS’, O TAHDAS 2Der (FB0z50S §ed SRen
IOV VES, D SIBASS’, SED 5D )AIEM VIS od
SV,

1. ®
2. In push operation, if new nodes are inserted at the end, then in pop operation,
nodes must be removed from the begmning.
IR SIBASS, DIBS’ £ SHeN 5°DY0VVES, 7D
. 83828, SBo® Il Hodh SV,

3. Both of the above

2 Bocar

3.



4. None of the above

23S 5%

4. &%

Question Number : 61 Question Id : 5244765261 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Disadvantages of file system to store data 1s:

BT Ao § TONETRE DS DY T3NE), (Deddorerdben:

Options :

1. Data redundancy and inconsistency

ZeEr BTBOTA,) SO VS

2. Dafficulty i accessing data.

TErD ASFBIR TS’ @2))0d.

3. Data Isolation

L. BT OFBAS

4. All of the above.
2300

Question Number : 62 Question Id : 5244765262 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following provides the ability to query information from the database and
mnsert tuples into, delete tuples from, and modify tuples mn the database?

808 T¢3S" DB TEFBD oA HSFTTR) (03) 0T 0TE)
90ANOE BN TEFBRS' S I D090, EnHS X
SOR0TIB0 B8O ENYD DD DSV 0E?

Options :

1. DML (Data Manmipulation Language)
DML (Be> S §BAS er0n £25)

1L
2. DDL (Data Definition Language)
DDL (3¢5 BOIAS erom ¢e8)
2. ®
3. Query
203

3. &



4. Relational Schema

BBAIS 3y 87

Question Number : 63 Question Id : 5244765263 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The term "FAT" 1s stands for
"FAT" @& 20 Q OrDWOS

Options :

1. File Allocation Tree
S Beronosy €3

1.

2. File Allocation Table
. 2O TEFON0) DEIE
3. File Allocation Graph
. 2O BEFONO)) 1D

4. All of the above

A

4. ®

Question Number : 64 Question Id : 5244765264 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The term "NTFS" refers to which one of the following?

"NTFS" @& D30 808 ¢35 B DD 0E?
Options :
1. New Technology File System

§ed Bose) 028 DO DQD

1.¢

2. New Tree File System

. &b (63 DS DA
3. New Table Type File System
b 2205 TV DS DR
3. &

4. Both1land3
1 DB 3 Bosore



Question Number : 65 Question Id : 5244765265 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A huge collection of the information or data accumulated form several different sources
1s known as :

NS Qé)é;, J:w@c:?@@ ErHoeS DEE0DDBES ddrerdo B B
3308, 2378 8B 90ETH:

Options :

. Data Management

-, 3 QB 5o7ed

2. Data Ming
L. Ber Dok

3. Data Warehouse
L, Ber 35

4. Both 2 and 3

2 D83 3 DO

4. %

Question Number : 66 Question Id : 5244765266 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In general, a file 1s basically a collection of all related
T30, DO O |*OE0T 0 cooa)o&e‘_% L T3E) 88,
Options :

1. Rows & Columns

€9C8) 25NN & e SBDEN
1. %
2. Fields
5
LN
3. Database
e BErBR
4. Records
852&en
4. &

Question Number : 67 Question Id : 5244765267 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following refers to the number of tuples mn a relation?
208 ¢35 DA H020B0SS &d) NS ) Do AFDNOE?
Options :

1. Entity
D0e3e3

2. Column

. SHOINY
3. Cardinality
50°O¢3
3. ¢
4. None of the above
. YA oy

Question Number : 68 Question Id : 5244765268 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a top-down approach in which the entity's higher level can be
divided mto two lower sub-entities?

208 ¢3S DB erD-BS D50, BAS® D0¢3¢S TBvE), €553 5 AN
B BHS &D-D0E3E30 D2522095t0)?

Options :
1. Aggregation

e AT

2. Generalization

Lx  OPOE3SSEd
3. Specialization
IABBAQ
3.
4. All of the above
I
4.

Question Number : 69 Question Id : 5244765269 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following command 1s used to delete the existing row n a table?

DE3ES” 2D)€3T &) @ JOX SOR0DETRE 808 T30S A
G309 0E?

Options :



1. Delete

SO0
2. Update
AdDESED
2.
3. Insert
i W 0O
3.

4. None of the above

0 P oy

Question Number : 70 Question Id : 5244765270 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following commands 1s used for removing (or deleting) a relation forms
the SQL database?

SQL BEFrZ3 ) 88T H0005A) SoOR0oNERS (B SOA0NERE)
208 857FOS 0O GITBrA0I220S0E?

Options :

1. Delete
- S EOR0T

2. Drop

13D

2. -

3. Remove

) SSOHOB

3,

4. All of the above
D)

4, ®

Question Number : 71 Question Id : 5244765271 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

How are roles specified mn an ER diagram
ER 32750 a(hen e ), S F°ow.
Options :

1. By labelling the rectangles

BEASE RO Band DKo oo



2. By labelling the diamonds

o S TOHEBo TE 5o
2.
3. Roles cannot be specified in an ER diagram
ER Bgrd| 0SS (e D) 52388
3. &
4. By labelling the lines
L DoRHORN TS TANGO o 5O°
4.

Question Number : 72 Question Id : 5244765272 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

An entity set that has a primary key 1s called as

PO 8 408 &) D0e3ed ED L0EFS.

Options :
1. Strong entity set

OGS Doedes S

1. ¢

2. Weak entity set
207 20e3E3 ES

2. ®

3. Complete entity set

5378 0e3e3 S

3. %

4. None of the above

232) 8¢

Question Number : 73 Question Id : 5244765273 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

1s an assoclation among several entities.

OO ©RE 0RO &S ©H2080.

Options :
1. Relationship

W,
. DOD00

I~

Association

L. OFITDAS



3. Set
28

4. Combination
Eeoond

Question Number : 74 Question Id : 5244765274 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Entity 1s a

Doe3es TS

Options :

1. Object of relation.

D000 TINE), SN,

2. Present working model

e 00 D S

3. Thing in real world
L, RS 1DD0B0S R DASHo

4. Model relation
S 0220850

4. %

Question Number : 75 Question Id : 5244765275 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A supertype/subtype hierarchy 1s which of the following?
D308 BT FFS 800 808 52635 DE?
Options :

1. Each subtype has only one attribute.

108 &DE5R8 2.8 2,8 ©F €90 GOEN0A.

2. Each supertype has only one attribute.

193 ATDE BINEL 2.3 2.8 ©F £90 GOLNOA.

3. Each subtype has only one supertype.

1083 TS 2,8 7708 B S| H 30 GOLNOSA.

3.



4. Each supertype has only one subtype

1D N8 BNS 2.8 & S50 Sr($HR S&0oeNod

Question Number : 76 Question Id : 5244765276 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The term attribute refers to a of a table.
& €90 O HS0 HEE ToE), Q HrDN0A.
Options :
1. Record
. 855
2. Tuple
L DS

3. Column

S o)

3.

4. Key
8

4. ®

Question Number : 77 Question Id : 5244765277 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

RDBMS consists a collection of?
RDBMS 2¢3 &80 B &500n0&?

Options :
1. Tables
.
L 88w
2. lgields
D)
2'%
3. Records
8seden
3. %
4. Key
&

4. ®



Question Number : 78 Question Id : 5244765278 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The relational model 1s concemed with?
8BAIS DS T8 H0220B0DIE?

Options :

1. Data structure and Data integrity
T35 QU190 DB TeEF Do fied

1.

2. Data Manipulation

T AT S

2. ®
3. Both 1 and?2
1 DA 2 Bodsy
3. %
4. None of these
A8 26 B

Question Number : 79 Question Id : 5244765279 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the full form of RDBMS?
208 5¢3¢S° RDBMS 330%), 578 85700 0&?
Options :

1. Relational Data Management System

EBAIS TeEr 028 DOEY DR

1. ¢

I~

Relational Database Management System

EBAIS TEFBR 25 0L VRN

2. %

3. Relative Database Management System

BSES BETTBR S DO QD

4. Regional Data Management System

8223 Ber HIE 0 O™

Question Number : 80 Question Id : 5244765280 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following systems use RDMS?
808 ¢3S’ & DR RDMSQ &ITIFANox?

Options :



1. Oracle
2,085

1. ®
. 2. Microsoft SQLServer
.« 3. IBM

4. All of the mentioned
» S @y

Question Number : 81 Question Id : 5244765281 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Redundancy 1s reduced n a database table by using the form.
DB &ITBrRoNG0 o BeErBm HE35S” 8BoRY )
5005220008,

Options :

1. Abnormal
- OO0

2. Normal

PO VA0S
2.
3. Special
. DBs80
4. None
Y-S

Question Number : 82 Question Id : 5244765282 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

In practical applications, how many types of Normal Forms are there?

88S @JBTAIS’, AQ) BE5°0 G F BN ) ON?

Options :

L. 3
1. ®

2. 4
2.¥

3. 3



Question Number : 83 Question Id : 5244765283 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a type of Normal Form?

oA °¢36S° D& S PSSy $E0 522

Options :
1. INF
1. ®
2. 2NF
2.
_x 3. 3NF
4. 10NF
4,

Question Number : 84 Question Id : 5244765284 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s TRUE about the First Normal Form (INF)?
DS S 3B (INF) 50800 D230 dade3?

Options :
1. If arelation contains an atomic value. 1t will be INF.

DODO0R0 HBETED Vended EOR &OTY, @& INF @s9)e508.

2. A table attribute cannot contain more than one value, according to this rule.

88 QOO0 (D530 DEE @ €90 2,8¢3 0T DBV Denderd ¥R
C5OCETCE .

3. A single-valued attribute can only be stored 1n it.

2,5-Dend K> 5 800 TS Sr(eha Ao £ TOH2ES0A.

4. All of the above
DI

Question Number : 85 Question Id : 5244765285 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

What 1s TRUE about the Second Normal Form (2NF)?
BOS TS oSS (2NF) 5800 D220 daned?

Options :



1. Relational must belong to INF in the 2NF.
EBASS S$HIAOEM™ 2NF &' INF & ToAIS.

1. ®

2. All attributes other than the primary key are fully functional in the second normal
form

2008 & 50 Q) HeTren Boksd s drnosS Jrom
L. OATTow
3. Both1land?2
1 DB 2 BO&

3.

4. None of the above

2530) TS

4.%

Question Number : 86 Question Id : 5244765286 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Oracle Database's are mhented 1n PL/SQL.
2.0°8S Berzsn T3E), PL/SQLS’ 8¢eb corr SPocdar&od.

Options :

1. Portability
FEHOES

2. Robustness

5G8eb 50
2.
3. Security
. 2385¢b
4. All of the above
2S5
4. =

Question Number : 87 Question Id : 5244765287 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

PL/SQL Vanable needs to be declared in the
PL/SQL R8a%He0S S’ (D830 .

Options :




1. Varniable Section

. 2BOO2DSD D20
2. Declaration Section
. AEBH® DerNo
3. Imtialization Section
i rS023 o
3.
4. None of the above
. Dada) S

Question Number : 88 Question Id : 5244765288 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

The term refers to a declaration with a size, scale, or precision lumit.
R D0 DBAT0, oD B DD )5S ¢ HBDAS S
BSEANNRSUIARO oYY
Options :
1. Constant declaration
L ROS %0
2. Constraimned declaration
» QSN0 0¥
3. Constant decision
L D5 dgAo

4. Constramned decision

QB0 QYo

4. ®

Question Number : 89 Question Id : 5244765289 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A cannot change its value while the application 1s running.
RIDTNR B @95 &I Q) e 8375 3E%0.
Options :

1. Constant variable

SRS B8ahend



2. Class vanable

SISl

2. %

3. Named Constant
QB0 DX DEFE

3.

4. Static constant

are38 Doroo

Question Number : 90 Question Id : 5244765290 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which operator 1s used to compare a value to a specified list of values?

28] Dende 27DeErS Denddd e JT8 ) e58eb

Goa3rAocdcHEnod?
Options :
1. ANY
1. ®
. 2. BETWEEN
3. ALL
3. %
4. IN
4.

Question Number : 91 Question Id : 5244765291 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

RMI stands for?
RMI &90T)?
Options :

1. Remote Mail Invocation

. 8357 oS e85°¢50
2. Remote Message Invocation
. BJrE] LOT¥ e85 550
3. Remaining Method Invocation
. ADN HAe e85 ¢S50

4. Remote Method Invocation

87 HA e 8555550

4.



Question Number : 92 Question Id : 5244765292 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is not a cloud stakeholder?

208 5E3S’ TE Ermedd SAE DA?

Options :

1. Cloud providers

S& (3
1. %
2. Clients
SO0
2.¢
3. End users
. DA DTN e
4.  Cloud users
. S° & DTN Soen

Question Number : 93 Question Id : 5244765293 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

A typical program creates some remote objects, makes references to
these objects accessible, and waits for clients to invoke methods on these objects.
2.8 > &ed T §Q) 8RS 350 Do d, &

SN DI 0T ENS’ GBOTHEOE BN owoty &s
SN D DD BN TONETAE FD) &0ENOA.

Options :

1. Server
PR S e te!

2. Client

Lonodd

2. % i

3. Thread
e 36

4. Concurrent

¥

Question Number : 94 Question Id : 5244765294 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time :



The layer, which provides the interface that client and server
application objects use to interact with each other.

SOHB, Eon0ES BN DB 6 ODTAS esFen
2,50 2,8¢3 DBD B D85 DONTRE &HBrAod RoLE DR
©0ANNO0A.

Options :

1. Increasing

80

2. Count
o

3. Bit

DE

4. Stub/skeleton

B/ 3OS

4.

Question Number : 95 Question Id : 5244765295 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following term 1s best defined by the statement: “When one object invokes
another independent object, a message 1s passed between the two objects.”?

808 ¢3S’ &) HA0 (HELS & 50 SO DS SD0NDB0E: "2u8 SN
RTE D 5505 3060 B0 I, BOR 3a e 088§ OISO
D00VCEO."?

Options :
1. Control couple
QA0S 2308

1. %

2. Application object
LONTAS SNY)

3. Data couple

T3> 2308

3.¢¥

4. Database object
Berzsh e38
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Which of the following 1s the preferred way to recover a database after a system
failure?

VD BP0 ST 5¢d BEFBD DI AE0NTRE 808 563" DA

IEPS§ Sr$0?
Options :
1. Rollback
ESer 8 DoHeso

2. Roll forward
FSard ;8 TOHo

3. Switch to duplicate database

S8 Beraddny, K0 Srés0

3.

4. Reprocess transaction

FITAD HY DD BAho

4. &
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Which of the following is an open standard Application Programming Interface (API)
for accessing a database?

BEFZ0 OSrBIR DANEE 808 57365 8,08 T0d 9DTAS
I TOR ROEE DR (AP OE?

Options :

1. Umiversal Data Access

OB IS T 0SBy

2. Open Database Connectivity

o, BerER E382¢3 BES¢s0
3. Command Line Interface
- 83708 BS R0THD

4. Open Data-Link Interface
Ber-O08 205600 BBI%0

4%

Question Number : 98 Question Id : 5244765298 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time :
N.A Think Time : N.A Minimum Instruction Time : 0



To protect the computer system against the hacker and different kind of viruses, one
must always keep on in the computer system.

585 08050 DV B57ed BV OB L0508 DR 38 0VETRE,
057508 DO’ VD) YT QD TS TASFD.

Options :

1. Antivirus

aSroedSI SR

1. #

2. Firewall
OIS

2.

3. VLC player

. VLC 2056
4. Script
=
Ry
4. ®
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1s the collection of memory structures and Oracle background processes
that operates against an Oracle database.

ORE 2,0°8S BeEFrz30), J5BTEOMT DT b
Q27722 BN 2,0°8S THG S (DB EBe9.

1. Database

. BErSR

1.

2. Instance

CIVATON
29
3. Table space
2220 )
3. &
4. Segment
V08
4. %
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A data dictionary is created when a created.

DIRODXD Y50 TEF A0ENY DR 0TI2¢S0E.

Options :
1. Instance
I AN
2. Segment
P Nglela
3. Database
L, BerER

4. Dictionary
Q0L



